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1 	� A solution is prepared by dissolving 50 g of  NaCl in 300 g of  water. Find the concentration of  the solution 
in terms of  mass by mass percentage of  the solution.

A.	 13.69%	 B.	 16.67%

C.	 11.18%	 D.	 14.29%

2 	� Rutherford’s gold foil experiment showed that most of  the alpha-particles passed through the gold foil 
without any deflection. This observation shows that: 

A.	 the nucleus is concentrated at centre 	

B.	 the nucleus carries positive charge 

C.	 there is lots of  empty space in atom 	

D.	 the nucleus carries most of  the mass 

Science
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3 	� Suppose an astronaut lands on a planet and drops an object from a height of  10 m from the surface. If  
gravitational acceleration on the surface of  the planet is half  to that of  the Earth, how much time will 
it take to reach the planet’s surface? 

A.	 About 1s	 B.	 About 2s 

C.	 About 3s	 D.	 About 4s

4 	� A ball is thrown upwards with some initial speed. It goes up to a height of  19.6 m and then returns. If  
initial speed of  the ball is P, Q is the time taken to reach the highest point after throw, R is the velocity 
of  the ball one second before it reaches the maximum height and S is the time taken by the ball to return 
to its original position after throw, then which of  the following options is correct for P, Q, R and S?

A.	 P–19.6 m/s, Q–3s, R–9.8 m/s, S–4s	 B.	 P–9.8 m/s, Q–1.5 s, R–9.8 m/s, S–3s

C.	 P–19.6 m/s, Q–2 s, R–19.6 m/s, S–4s	 D.	 P–19.6 m/s, Q–2 s, R–9.8 m/s, S–4s

Technology & Engineering
5 	 What technology do tools like Alexa and Siri use to understand voice commands?

A.	 Augmented Reality	 B.	 Natural Language Processing (NLP)

C.	 Neural Networks	 D.	 Blockchain

6 	 Name the robot that beat Garry Kasparov in chess:

A.	 Siri	 B.	 Watson

C.	 Deep Blue	 D.	 Sophia

7 	 Which of  the following is/are the rules for drawing a flowchart?

A.	 Each flowchart must have one and only one Start and Stop object.

B.	 The flow of  control must always enter an object from the top.

C.	 The flow of  control must always leave an object form the bottom.

D.	 All of  these
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8 	 Insert the missing number in place of  the question mark (?)

12
13

?

18
22

27

33 15

A.	 36	 B.	 38

C.	 40	 D.	 42

Mathematics
9 	� Shobhit has a carton of  dimensions 32 cm × 28 cm × 48 cm to place few small boxes in it. Each such a 

small box has 3 shuttle cocks inside it. Dimensions of  this small box is 10 cm × 9 cm × 21 cm.

21cm

9c
m

10
cm

48cm
28cm

32
cm

	 Maximum how many shuttle cocks can be put in the carton?

A.	 27	 B.	 54

C.	 60	 D.	 None of  these
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10 	� Tony has a clock which gets slow and loses 2% time during the first week and then in next week it gets 
fast and gains 4% time. He sets the clock right at 12 noon on a Sunday, what will be the time that clock 
will display exactly 14 days from the time it was set right?

A.	 3 : 18 : 36	 B.	 3 : 21 : 36

C.	 1 : 40 : 48	 D.	 1 : 54 : 48

11 	� In a company, the person at cashier counter has three denominations of  notes of  `10, `20 and `500. If  
he has to pay a bill of  `1680, then find the total number of  different ways to pay this amount.

A.	 180	 B.	 185

C.	 190	 D.	 200

12 	� In a nursery, there are 7 children of  age group of  3 years to 10 years (both inclusive). If  median and 
mean ages of  the ages of  these children are 8 years and the mode is 9 years, then what will be the sum 
of  the ages of  the youngest and the eldest children?

A.	 12 years	 B.	 13 years

C.	 14 years	 D.	 15 years

	 1.	 (D)	 2.	 (C)	 3.	 (B)	 4.	 (D)	 5.	 (B)	 6.	 (C)
	 7.	 (D)	 8.	 (C)	 9.	 (B)	 10.	 (B)	 11.	 (C)	 12.	 (D)

ANSWERS



Silverzone International STEM Innovation Olympiad

7


